Index Card Area—Rectangle, Parallelogram, Isosceles Trapezoid
(White instead of blue means the triangle was flipped.)
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A = average of the bases * height


A = (b1 + b2) * h





A = (4 + 6) * 3





A = 5 * 3





A = average of the bases * height





A = ½ (b1 + b2) * h





A = ½ (3 + 7) * 3





A = 5 * 3








A = average of the bases * height





A = ½ (b1 + b2) * h





A = ½ (1 + 9) * 3





A = 5 * 3
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A = base * height
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A = base * height





A = b * h





A = 5 * 3





A = base * height
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A = 5 * 3





A = average of the bases * height





A = ½ (b1 + b2) * h





A = ½ (2 + 8) * 3





A = 5 * 3








